Project #71328: US 50 / Silva Valley Parkway Interchange Project

 Contract No.
 PW 12-30647

 Project No.
 71328

Project Types Interchange Project

Begin Advertisement:
Bid Opening:
Anticipated Award:

7/12/13

9/12/13

9/24/13

						AND SONS UCTION, LP		& SON, INC. dba CONSTRUCTION		VA GATES LUCTION, LP	RGW CONS	TRUCTION, INC.	O.C. JONE	S & SONS, INC.	GOLDEN STA	TE BRIDGE, INC.	BAY CITIE	S / MYERS, JV
Item No	. Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
1	072007	EXCAVATION SAFETY	LS	1	\$5,000.00	\$5,000.00	\$60,000.00	\$60,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$25,000.00	\$25,000.0
2	070030	LEAD COMPLIANCE PLAN	LS	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.0
3	080050	PROGRESS SCHEDULE (CRITICAL PATH METHOD)	LS	1	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.0
4	120090	CONSTRUCTION AREA SIGNS	LS	1	\$30,000.00	\$30,000.00	\$33,240.00	\$33,240.00	\$30,000.00	\$30,000.00	\$33,000.00	\$33,000.00	\$33,000.00	\$33,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.0
5	120100	TRAFFIC CONTROL SYSTEM	LS	1	\$300,000.00	\$300,000.00	\$387,000.00	\$387,000.00	\$302,667.20	\$302,667.20	\$500,000.00	\$500,000.00	\$400,000.00	\$400,000.00	\$700,000.00	\$700,000.00	\$946,240.00	\$946,240.0
6	120120	TYPE III BARRICADE	EA	60	\$100.00	\$6,000.00	\$60.00	\$3,600.00	\$100.00	\$6,000.00	\$60.00	\$3,600.00	\$150.00	\$9,000.00	\$100.00	\$6,000.00	\$65.00	\$3,900.0
7	120149	TEMPORARY PAVEMENT MARKING (PAINT)	SF	100	\$2.00	\$200.00	\$2.00	\$200.00	\$2.00	\$200.00	\$2.00	\$200.00	\$5.00	\$500.00	\$10.00	\$1,000.00	\$3.00	\$300.0
8	120159	TEMPORARY TRAFFIC STRIPE (PAINT)	LF	5,490	\$0.80	\$4,392.00	\$0.75	\$4,117.50	\$1.00	\$5,490.00	\$0.75	\$4,117.50	\$0.80	\$4,392.00	\$0.30	\$1,647.00	\$0.80	\$4,392.0
9	120165	CHANNELIZER (SURFACE MOUNTED)	EA	110	\$30.00	\$3,300.00	\$35.50	\$3,905.00	\$35.00	\$3,850.00	\$35.00	\$3,850.00	\$40.00	\$4,400.00	\$75.00	\$8,250.00	\$40.00	\$4,400.0
10	120199	TRAFFIC PLASTIC DRUM	EA	200	\$35.00	\$7,000.00	\$60.70	\$12,140.00	\$100.00	\$20,000.00	\$76.00	\$15,200.00	\$110.00	\$22,000.00	\$50.00	\$10,000.00	\$85.00	\$17,000.0
11	120300	TEMPORARY PAVEMENT MARKER	EA	200	\$3.00	\$600.00	\$3.00	\$600.00	\$3.00	\$600.00	\$3.00	\$600.00	\$5.00	\$1,000.00	\$5.00	\$1,000.00	\$5.00	\$1,000.0
12	128650	PORTABLE CHANGEABLE MESSAGE SIGN	SWD	400	\$300.00	\$120,000.00	\$170.00	\$68,000.00	\$100.00	\$40,000.00	\$50.00	\$20,000.00	\$48.00	\$19,200.00	\$450.00	\$180,000.00	\$30.00	\$12,000.0
13	129000	TEMPORARY RAILING (TYPE K)	LF	16,100	\$10.00	\$161,000.00	\$13.00	\$209,300.00	\$15.00	\$241,500.00	\$21.00	\$338,100.00	\$17.00	\$273,700.00	\$20.00	\$322,000.00	\$18.80	\$302,680.0
14	129100	TEMPORARY CRASH CUSHION MODULES	EA	140	\$140.00	\$19,600.00	\$200.00	\$28,000.00	\$150.00	\$21,000.00	\$152.00	\$21,280.00	\$150.00	\$21,000.00	\$350.00	\$49,000.00	\$425.00	\$59,500.0
15	129110A	TEMPORARY CRASH CUSHION (TYPE ABSORB 350)	EA	4	\$6,000.00	\$24,000.00	\$5,000.00	\$20,000.00	\$3,000.00	\$12,000.00	\$5,200.00	\$20,800.00	\$5,000.00	\$20,000.00	\$3,000.00	\$12,000.00	\$10,145.00	\$40,580.0
16	130100	JOB SITE MANAGEMENT	LS	1	\$100,000.00	\$100,000.00	\$600,000.00	\$600,000.00	\$25,000.00	\$25,000.00	\$70,000.00	\$70,000.00	\$300,000.00	\$300,000.00	\$550,000.00	\$550,000.00	\$400,000.00	\$400,000.0
17	130300	PREPARE STORM WATER POLLUTION PREVENTION PLAN	LS	1	\$10,000.00	\$10,000.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.0
18	130310	RAIN EVENT ACTION PLAN	EA	53	\$500.00	\$26,500.00	\$500.00	\$26,500.00	\$500.00	\$26,500.00	\$500.00	\$26,500.00	\$500.00	\$26,500.00	\$500.00	\$26,500.00	\$500.00	\$26,500.0
19	130320	STORM WATER SAMPLING AND ANALYSIS DAY	EA	52	\$500.00	\$26,000.00	\$500.00	\$26,000.00	\$150.00	\$7,800.00	\$380.00	\$19,760.00	\$425.00	\$22,100.00	\$500.00	\$26,000.00	\$150.00	\$7,800.0
20	130330	STORM WATER ANNUAL REPORT	EA	2	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.0
21	141000	TEMPORARY FENCE (TYPE ESA)	LF	5,800	\$4.00	\$23,200.00	\$2.75	\$15,950.00	\$5.00	\$29,000.00	\$4.00	\$23,200.00	\$3.75	\$21,750.00	\$5.00	\$29,000.00	\$3.00	\$17,400.0
22	149001A	ASBESTOS DUST MITIGATION PLAN	LS	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.0
23	150204A	ABANDON UNDER DRAIN	LF	3,280	\$2.00	\$6,560.00	\$0.30	\$984.00	\$5.00	\$16,400.00	\$0.25	\$820.00	\$2.00	\$6,560.00	\$7.00	\$22,960.00	\$2.35	\$7,708.0
24	150605	REMOVE FENCE	LF	12,700	\$2.00	\$25,400.00	\$1.65	\$20,955.00	\$2.00	\$25,400.00	\$0.50	\$6,350.00	\$1.00	\$12,700.00	\$3.00	\$38,100.00	\$6.00	\$76,200.0
25	150662	REMOVE METAL BEAM GUARD RAILING	LF	570	\$7.50	\$4,275.00	\$8.20	\$4,674.00	\$10.00	\$5,700.00	\$8.00	\$4,560.00	\$8.00	\$4,560.00	\$10.00	\$5,700.00	\$10.00	\$5,700.0
26	150668	REMOVE FLARED END SECTION	EA	5	\$150.00	\$750.00	\$300.00	\$1,500.00	\$200.00	\$1,000.00	\$10.00	\$50.00	\$350.00	\$1,750.00	\$200.00	\$1,000.00	\$140.00	\$700.0
27	150714	REMOVE THERMOPLASTIC TRAFFIC STRIPE	LF	3.030	\$0.75	\$2,272.50	\$0.75	\$2,272.50	\$1.00	\$3.030.00	\$1.00	\$3.030.00	\$0.50	\$1,515.00	\$1.00	\$3.030.00	\$1.00	\$3,030.0
28		REMOVE THERMOPLASTIC PAVEMENT MARKING	SF	300	\$2.00		\$2.00	\$600.00	\$2.00	\$600.00	\$2.00		*	, ,,	\$5.00	\$1,500.00	\$3.00	\$900.0
29	150722	REMOVE PAVEMENT MARKER	EA	44	\$2.00	\$88.00	\$2.00	\$88.00	\$1.00	\$44.00	\$2.00	\$88.00	\$3.00	\$132.00	\$1.00	\$44.00	\$5.00	\$220.0
30	150742	REMOVE ROADSIDE SIGN	EA	21	\$100.00	\$2,100.00	\$102.00	\$2,142.00	\$100.00	\$2,100.00	\$100.00	\$2,100.00	\$100.00	\$2,100.00	\$250.00	\$5,250.00	\$110.00	\$2,310.0
31	150771	REMOVE HOT MIX ASPHALT DIKE	LF	1,300	\$2.00	\$2,600.00	\$7.25	\$9,425.00	\$1.00	\$1,300.00	\$1.00	\$1,300.00	\$3.00	\$3,900.00	\$2.00	\$2,600.00	\$0.50	\$650.0
32	150809	REMOVE CULVERT	LF	470	\$10.00	\$4,700.00	\$30.00	\$14,100.00	\$50.00	\$23,500.00	\$13.00	\$6,110.00	\$20.00	\$9,400.00	\$50.00	\$23,500.00	\$24.20	\$11,374.0
33	150814	REMOVE DOWNDRAIN	LF	130	\$10.00	\$1,300.00	\$36.00	\$4,680.00	\$50.00	\$6,500.00	\$51.00	\$6,630.00	\$50.00	\$6,500.00	\$15.00	\$1,950.00	\$16.80	\$2,184.0
34	150819	REMOVE REINFORCED CONCRETE BOX CULVERT	LS	1	\$40,000.00	\$40,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$38,000.00	\$38,000.00	\$35,000.00	\$35,000.00	\$18,065.00	\$18,065.0
35	150820	REMOVE INLET	EA	3	\$150.00	\$450.00	\$650.00	\$1,950.00	\$1,000.00	\$3,000.00	\$700.00	\$2,100.00	\$650.00	\$1,950.00	\$1,000.00	\$3,000.00	\$597.00	\$1,791.0

Project #71328: US 50 / Silva Valley Parkway Interchange Project

 Contract No.
 PW 12-30647

 Project No.
 71328

Project Types Interchange Project

Begin Advertisement:
Bid Opening:
Anticipated Award:

7/12/13 9/12/13 9/24/13

			interchange i roject		MYERS AN			& SON, INC. dba		LVA GATES RUCTION, LP	RGW CONS	TRUCTION, INC.	O.C. JONES 8	SONS, INC.	GOLDEN STA	TE BRIDGE, INC.	BAY CITIES	S / MYERS, JV	
Item	No. Ite	em Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
36	1	150860	REMOVE BASE AND SURFACING	CY	2,100	\$10.00	\$21,000.00	\$16.60	\$34,860.00	\$5.00	\$10,500.00	\$5.50	\$11,550.00	\$12.00	\$25,200.00	\$10.00	\$21,000.00	\$18.50	\$38,850.00
37	1	152390	RELOCATE ROADSIDE SIGN	EA	10	\$200.00	\$2,000.00	\$203.00	\$2,030.00	\$250.00	\$2,500.00	\$200.00	\$2,000.00	\$200.00	\$2,000.00	\$350.00	\$3,500.00	\$210.00	\$2,100.00
38	1	152394	RELOCATE SIGN STRUCTURE	EA	1	\$9,000.00	\$9,000.00	\$13,350.00	\$13,350.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
39	1	153103	COLD PLANE ASPHALT CONCRETE PAVEMENT	SY	13,800	\$2.00	\$27,600.00	\$2.00	\$27,600.00	\$2.00	\$27,600.00	\$1.90	\$26,220.00	\$4.50	\$62,100.00	\$2.00	\$27,600.00	\$3.35	\$46,230.00
40	1	153130	REMOVE CONCRETE CURB	LF	120	\$8.00	\$960.00	\$9.00	\$1,080.00	\$10.00	\$1,200.00	\$6.00	\$720.00	\$9.00	\$1,080.00	\$10.00	\$1,200.00	\$21.00	\$2,520.00
41	1	153221	REMOVE CONCRETE BARRIER	LF	540	\$35.00	\$18,900.00	\$39.00	\$21,060.00	\$20.00	\$10,800.00	\$11.00	\$5,940.00	\$32.00	\$17,280.00	\$25.00	\$13,500.00	\$24.00	\$12,960.00
42	1	160102	CLEARING AND GRUBBING	LS	1	\$10,000.00	\$10,000.00	\$75,000.00	\$75,000.00	\$300,000.00	\$300,000.00	\$100,000.00	\$100,000.00	\$500,000.00	\$500,000.00	\$50,000.00	\$50,000.00	\$138,600.00	\$138,600.00
43	1	160120	REMOVE TREE	EA	140	\$400.00	\$56,000.00	\$220.00	\$30,800.00	\$500.00	\$70,000.00	\$240.00	\$33,600.00	\$250.00	\$35,000.00	\$500.00	\$70,000.00	\$252.00	\$35,280.00
44	1	170101	DEVELOP WATER SUPPLY	LS	1	\$150,000.00	\$150,000.00	\$180,000.00	\$180,000.00	\$50,000.00	\$50,000.00	\$45,000.00	\$45,000.00	\$30,000.00	\$30,000.00	\$75,000.00	\$75,000.00	\$150,000.00	\$150,000.00
45	F 1	190101	ROADWAY EXCAVATION	CY	231,000	\$17.00	\$3,927,000.00	\$17.00	\$3,927,000.00	\$34.00	\$7,854,000.00	\$30.00	\$6,930,000.00	\$22.00	\$5,082,000.00	\$20.00	\$4,620,000.00	\$28.70	\$6,629,700.00
46	F 1	192003	STRUCTURE EXCAVATION (BRIDGE)	CY	4,134	\$80.00	\$330,720.00	\$75.00	\$310,050.00	\$100.00	\$413,400.00	\$100.00	\$413,400.00	\$50.00	\$206,700.00	\$100.00	\$413,400.00	\$75.00	\$310,050.00
47	F 1	192020	STRUCTURE EXCAVATION (TYPE D)	CY	199	\$100.00	\$19,900.00	\$175.00	\$34,825.00	\$400.00	\$79,600.00	\$100.00	\$19,900.00	\$150.00	\$29,850.00	\$50.00	\$9,950.00	\$200.00	\$39,800.00
48	F 1	192037	STRUCTURE EXCAVATION (RETAINING WALL)	CY	900	\$40.00	\$36,000.00	\$55.00	\$49,500.00	\$50.00	\$45,000.00	\$100.00	\$90,000.00	\$30.00	\$27,000.00	\$25.00	\$22,500.00	\$34.12	\$30,708.00
49	F 1	193003	STRUCTURE BACKFILL (BRIDGE)	CY	2,876	\$50.00	\$143,800.00	\$85.00	\$244,460.00	\$50.00	\$143,800.00	\$65.00	\$186,940.00	\$100.00	\$287,600.00	\$100.00	\$287,600.00	\$75.00	\$215,700.00
50	F 1	193013	STRUCTURE BACKFILL (RETAINING WALL)	CY	1,400	\$40.00	\$56,000.00	\$37.00	\$51,800.00	\$25.00	\$35,000.00	\$34.00	\$47,600.00	\$50.00	\$70,000.00	\$16.00	\$22,400.00	\$73.00	\$102,200.00
51	F 1	198010	IMPORTED BORROW (CY)	CY	122,000	\$8.00	\$976,000.00	\$8.10	\$988,200.00	\$5.00	\$610,000.00	\$13.00	\$1,586,000.00	\$16.00	\$1,952,000.00	\$10.50	\$1,281,000.00	\$10.45	\$1,274,900.00
52	2	200117	DECOMPOSED GRANITE (MISCELLANEOUS AREA)	SF	290	\$10.00	\$2,900.00	\$5.00	\$1,450.00	\$10.00	\$2,900.00	\$12.00	\$3,480.00	\$18.00	\$5,220.00	\$5.00	\$1,450.00	\$10.00	\$2,900.00
53	2		BIOSWALE	SY	1,750	\$1.00	\$1,750.00	\$18.00	\$31,500.00	\$10.00	\$17,500.00	\$19.00	\$33,250.00	\$20.00	\$35,000.00	\$19.00	\$33,250.00	\$15.00	\$26,250.00
54	F 2		8" CORRUGATED HIGH DENSITY POLYETHYLENE PIPE CONDUIT	LF	1,263	\$15.00	\$18,945.00	\$40.00	\$50,520.00	\$75.00	\$94,725.00	\$16.00	\$20,208.00	\$50.00	\$63,150.00	\$15.00	\$18,945.00	\$84.60	\$106,849.80
55	2		MOVE-IN/MOVE-OUT (EROSION CONTROL)	EA	4	\$1,000.00	\$4,000.00	\$615.00	\$2,460.00	\$600.00	\$2,400.00	\$1,000.00	\$4,000.00	\$600.00	\$2,400.00	\$500.00	\$2,000.00	\$700.00	\$2,800.00
56	2		ROLLED EROSION CONTROL PRODUCT (BLANKET) TYPE B	SY	1,540	\$5.50	\$8,470.00	\$5.10	\$7,854.00	\$5.00	\$7,700.00	\$6.00	\$9,240.00	\$5.00	\$7,700.00	\$10.00	\$15,400.00	\$5.50	\$8,470.00
57	2	210350	FIBER ROLLS	LF	95,800	\$2.75	\$263,450.00	\$2.90	\$277,820.00	\$3.00	\$287,400.00	\$2.55	\$244,290.00	\$3.00	\$287,400.00	\$3.00	\$287,400.00	\$2.90	\$277,820.00
58	2	210430	HYDROSEED	SY	231,000	\$1.00	\$231,000.00	\$0.98	\$226,380.00	\$1.00	\$231,000.00	\$0.40	\$92,400.00	\$0.95	\$219,450.00	\$0.75	\$173,250.00	\$1.00	\$231,000.00
59	2	210600A	COMPOST (INCORPORATE)	SY	1,140	\$7.00	\$7,980.00	\$8.90	\$10,146.00	\$15.00	\$17,100.00	\$7.00	\$7,980.00	\$9.00	\$10,260.00	\$5.00	\$5,700.00	\$9.00	\$10,260.00
60	2	260203	CLASS 2 AGGREGATE BASE	CY	43,300	\$30.00	\$1,299,000.00	\$38.00	\$1,645,400.00	\$30.00	\$1,299,000.00	\$30.00	\$1,299,000.00	\$38.00	\$1,645,400.00	\$37.50	\$1,623,750.00	\$33.00	\$1,428,900.00
61	3	377501	SLURRY SEAL	TON	38	\$700.00	\$26,600.00	\$521.00	\$19,798.00	\$500.00	\$19,000.00	\$525.00	\$19,950.00	\$505.00	\$19,190.00	\$350.00	\$13,300.00	\$551.00	\$20,938.00
62	3	390132	HOT MIX ASPHALT (TYPE A)	TON	35,000	\$75.00	\$2,625,000.00	\$75.00	\$2,625,000.00	\$70.00	\$2,450,000.00	\$68.00	\$2,380,000.00	\$75.00	\$2,625,000.00	\$76.75	\$2,686,250.00	\$70.00	\$2,450,000.00
63	3	390138	RUBBERIZED HOT MIX ASPHALT (OPEN GRADED)	TON	2,770	\$90.00	\$249,300.00	\$100.00	\$277,000.00	\$90.00	\$249,300.00	\$96.00	\$265,920.00	\$120.00	\$332,400.00	\$117.00	\$324,090.00	\$91.50	\$253,455.00
64	3	394050	RUMBLE STRIP	STA	140	\$20.00	\$2,800.00	\$58.00	\$8,120.00	\$25.00	\$3,500.00	\$24.00	\$3,360.00	\$70.00	\$9,800.00	\$25.00	\$3,500.00	\$49.00	\$6,860.00
65	3	394074	PLACE HOT MIX ASPHALT DIKE (TYPE C)	LF	960	\$2.00	\$1,920.00	\$1.00	\$960.00	\$1.00	\$960.00	\$7.25	\$6,960.00	\$1.00	\$960.00	\$2.00	\$1,920.00	\$3.25	\$3,120.00
66	3	394076	PLACE HOT MIX ASPHALT DIKE (TYPE E)	LF	7,400	\$2.00	\$14,800.00	\$1.00	\$7,400.00	\$1.00	\$7,400.00	\$3.80	\$28,120.00	\$1.00	\$7,400.00	\$2.00	\$14,800.00	\$3.25	\$24,050.00
67	3	394077	PLACE HOT MIX ASPHALT DIKE (TYPE F)	LF	5,300	\$2.00	\$10,600.00	\$1.00	\$5,300.00	\$1.00	\$5,300.00	\$8.00	\$42,400.00	\$1.00	\$5,300.00	\$2.00	\$10,600.00	\$3.25	\$17,225.00
68	3	394090	PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SY	1,810	\$16.00	\$28,960.00	\$55.00	\$99,550.00	\$10.00	\$18,100.00	\$26.00	\$47,060.00	\$20.00	\$36,200.00	\$5.00	\$9,050.00	\$11.65	\$21,086.50
69	P-F 4		MECHANICALLY STABALIZED EMBANKMENT	SF	2,880	\$25.00	\$72,000.00	\$62.00	\$178,560.00	\$80.00	\$230,400.00	\$70.00	\$201,600.00	\$80.00	\$230,400.00	\$85.00	\$244,800.00	\$70.00	\$201,600.00
70	4		60" CAST-IN-DRILLED-HOLE CONCRETE PILE (SIGN FOUNDATION)	LF	290	\$3,000.00	\$870,000.00	\$5,020.00	\$1,455,800.00	\$3,000.00	\$870,000.00	\$3,150.00	\$913,500.00	\$3,150.00	\$913,500.00	\$5,000.00	\$1,450,000.00	\$2,500.00	\$725,000.00

Project #71328: US 50 / Silva Valley Parkway Interchange Project

 Contract No.
 PW 12-30647

 Project No.
 71328

Project Types Interchange Project

Begin Advertisement: Bid Opening: Anticipated Award: 7/12/13 9/12/13 9/24/13

	,					MYERS AN CONSTRUC			& SON, INC. dba CONSTRUCTION		.VA GATES RUCTION, LP	RGW CONS	TRUCTION, INC.	O.C. JONES 8	SONS, INC.	GOLDEN STA	TE BRIDGE, INC.	BAY CITIES	S / MYERS, JV
Item N	lo. It	tem Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
71	Р	500001	PRESTRESSING CAST-IN-PLACE CONCRETE	LS	1	\$250,000.00	\$250,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$210,000.00	\$210,000.00	\$200,000.00	\$200,000.00	\$250,000.00	\$250,000.00	\$200,000.00	\$200,000.00
72	F	510051	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	709	\$450.00	\$319,050.00	\$605.00	\$428,945.00	\$600.00	\$425,400.00	\$700.00	\$496,300.00	\$450.00	\$319,050.00	\$750.00	\$531,750.00	\$450.00	\$319,050.00
73	F	510053	STRUCTURAL CONCRETE, BRIDGE	CY	4,668	\$1,000.00	\$4,668,000.00	\$605.00	\$2,824,140.00	\$600.00	\$2,800,800.00	\$685.00	\$3,197,580.00	\$650.00	\$3,034,200.00	\$875.00	\$4,084,500.00	\$830.00	\$3,874,440.00
74	F	510060	STRUCTURAL CONCRETE, RETAINING WALL	CY	440	\$550.00	\$242,000.00	\$375.00	\$165,000.00	\$300.00	\$132,000.00	\$300.00	\$132,000.00	\$400.00	\$176,000.00	\$625.00	\$275,000.00	\$400.00	\$176,000.00
75	F	510072	STRUCTURAL CONCRETE, BARRIER SLAB	CY	112	\$800.00	\$89,600.00	\$525.00	\$58,800.00	\$600.00	\$67,200.00	\$420.00	\$47,040.00	\$525.00	\$58,800.00	\$850.00	\$95,200.00	\$680.00	\$76,160.00
76	F	510086	STRUCTURAL CONCRETE, APPROACH SLAB (TYPE N)	CY	520	\$700.00	\$364,000.00	\$770.00	\$400,400.00	\$500.00	\$260,000.00	\$520.00	\$270,400.00	\$600.00	\$312,000.00	\$500.00	\$260,000.00	\$850.00	\$442,000.00
77	F	510090	STRUCTURAL CONCRETE, BOX CULVERT	CY	632	\$1,000.00	\$632,000.00	\$1,000.00	\$632,000.00	\$900.00	\$568,800.00	\$950.00	\$600,400.00	\$825.00	\$521,400.00	\$1,400.00	\$884,800.00	\$1,320.00	\$834,240.00
78	F :	510501A	MINOR CONCRETE (MEDIAN)	CY	49	\$500.00	\$24,500.00	\$810.00	\$39,690.00	\$500.00	\$24,500.00	\$110.00	\$5,390.00	\$450.00	\$22,050.00	\$650.00	\$31,850.00	\$700.00	\$34,300.00
79	F	510502	MINOR CONCRETE (MINOR STRUCTURE)	CY	70	\$1,000.00	\$70,000.00	\$2,600.00	\$182,000.00	\$1,500.00	\$105,000.00	\$1,250.00	\$87,500.00	\$1,250.00	\$87,500.00	\$1,100.00	\$77,000.00	\$1,425.00	\$99,750.00
80	F		MINOR CONCRETE (BACKFILL)	CY	47	\$200.00	\$9,400.00	\$107.00	\$5,029.00	\$200.00	\$9,400.00	\$130.00	\$6,110.00	\$340.00	\$15,980.00	\$150.00	\$7,050.00	\$102.00	\$4,794.00
81	F t		ARCHITECTURAL TREATMENT (DRY STACK ROCK TEXTURE)	SF	6,166	\$30.00	\$184,980.00	\$20.00	\$123,320.00	\$10.00	\$61,660.00	\$10.00	\$61,660.00	\$24.00	\$147,984.00	\$25.00	\$154,150.00	\$25.00	\$154,150.00
82	Р :	519088A	JOINT SEAL (TYPE B - MR 1")	LF	180	\$90.00	\$16,200.00	\$60.00	\$10,800.00	\$75.00	\$13,500.00	\$74.00	\$13,320.00	\$100.00	\$18,000.00	\$150.00	\$27,000.00	\$55.00	\$9,900.00
83	Р	519100	JOINT SEAL (MR 2")	LF	298	\$75.00	\$22,350.00	\$80.00	\$23,840.00	\$100.00	\$29,800.00	\$120.00	\$35,760.00	\$150.00	\$44,700.00	\$150.00	\$44,700.00	\$80.00	\$23,840.00
84		519200	PRECAST BRIDGE SYSTEM	LS	1	\$1,000,000.00	\$1,000,000.00	\$705,000.00	\$705,000.00	\$700,000.00	\$700,000.00	\$600,000.00	\$600,000.00	\$1,050,000.00	\$1,050,000.00	\$850,000.00	\$850,000.00	\$870,000.65	\$870,000.65
85	P-F	520102	BAR REINFORCING STEEL (BRIDGE)	LB	1,274,872	\$1.00	\$1,274,872.00	\$1.00	\$1,274,872.00	\$0.90	\$1,147,384.80	\$1.00	\$1,274,872.00	\$0.90	\$1,147,384.80	\$1.00	\$1,274,872.00	\$1.05	\$1,338,615.60
86	P-F	520103	BAR REINFORCING STEEL (RETAINING WALL)	LB	52,000	\$1.00	\$52,000.00	\$1.00	\$52,000.00	\$1.00	\$52,000.00	\$1.00	\$52,000.00	\$1.00	\$52,000.00	\$0.75	\$39,000.00	\$1.19	\$61,880.00
87	P-F	520107	BAR REINFORCING STEEL (BOX CULVERT)	LB	122,687	\$1.00	\$122,687.00	\$1.00	\$122,687.00	\$1.00	\$122,687.00	\$1.00	\$122,687.00	\$1.00	\$122,687.00	\$1.00	\$122,687.00	\$1.10	\$134,955.70
88	P-F	520120	HEADED BAR REINFORCEMENT	EA	300	\$5.00	\$1,500.00	\$11.00	\$3,300.00	\$5.00	\$1,500.00	\$17.00	\$5,100.00	\$50.00	\$15,000.00	\$30.00	\$9,000.00	\$20.00	\$6,000.00
89	F	560203	FURNISH SIGN STRUCTURE (BRIDGE MOUNTED WITH WALKWAY)	LB	6,247	\$5.50	\$34,358.50	\$5.25	\$32,796.75	\$5.00	\$31,235.00	\$5.00	\$31,235.00	\$5.25	\$32,796.75	\$6.00	\$37,482.00	\$5.50	\$34,358.50
90	F	560204	INSTALL SIGN STRUCTURE (BRIDGE MOUNTED WITH WALKWAY)	LB	6,247	\$2.50	\$15,617.50	\$2.25	\$14,055.75	\$2.00	\$12,494.00	\$3.00	\$18,741.00	\$2.25	\$14,055.75	\$2.00	\$12,494.00	\$2.60	\$16,242.20
91	F	560218	FURNISH SIGN STRUCTURE (TRUSS)	LB	206,000	\$3.50	\$721,000.00	\$3.70	\$762,200.00	\$3.50	\$721,000.00	\$4.00	\$824,000.00	\$3.50	\$721,000.00	\$3.70	\$762,200.00	\$3.60	\$741,600.00
92	F	560219	INSTALL SIGN STRUCTURE (TRUSS)	LB	206,000	\$0.25	\$51,500.00	\$0.25	\$51,500.00	\$0.20	\$41,200.00	\$0.18	\$37,080.00	\$0.25	\$51,500.00	\$0.25	\$51,500.00	\$0.25	\$51,500.00
93		560244	FURNISH LAMINATED PANEL SIGN (1"-TYPE A)	SF	3,160	\$25.42	\$80,327.20	\$22.00	\$69,520.00	\$20.00	\$63,200.00	\$5.00	\$15,800.00	\$22.00	\$69,520.00	\$25.00	\$79,000.00	\$24.00	\$75,840.00
94		560245	FURNISH LAMINATED PANEL SIGN (1"-TYPE B)	SF	110	\$30.00	\$3,300.00	\$22.00	\$2,420.00	\$30.00	\$3,300.00	\$5.00	\$550.00	\$30.00	\$3,300.00	\$25.00	\$2,750.00	\$35.00	\$3,850.00
95			FURNISH SINGLE SHEET ALUMINUM SIGN (0.063"- UNFRAMED)	SF	650	\$13.00	\$8,450.00	\$20.00	\$13,000.00	\$14.00	\$9,100.00	\$13.00	\$8,450.00	\$13.00	\$8,450.00	\$15.00	\$9,750.00	\$14.00	\$9,100.00
96		560249	FURNISH SINGLE SHEET ALUMINUM SIGN (0.080"- UNFRAMED) FURNISH SINGLE SHEET ALUMINUM SIGN (0.063"-	SF	440	\$16.00	\$7,040.00	\$15.00	\$6,600.00	\$15.00	\$6,600.00	\$16.00	\$7,040.00	\$16.00	\$7,040.00	\$15.00	\$6,600.00	\$17.00	\$7,480.00
97		560251	FRAMED)	SF	94	\$17.00	\$1,598.00	\$20.00	\$1,880.00	\$20.00	\$1,880.00	\$17.00	\$1,598.00	\$17.00	\$1,598.00	\$20.00	\$1,880.00	\$18.00	\$1,692.00
98			FURNISH SINGLE SHEET ALUMINUM SIGN (0.080"- FRAMED)	SF	100	\$18.00	\$1,800.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$18.00	\$1,800.00	\$18.00	\$1,800.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
99		566011	ROADSIDE SIGN - ONE POST	EA	84	\$250.00	\$21,000.00	\$253.00	\$21,252.00	\$250.00	\$21,000.00	\$250.00	\$21,000.00	\$250.00	\$21,000.00	\$350.00	\$29,400.00	\$260.00	\$21,840.00
100			ROADSIDE SIGN - TWO POST	EA	9	\$400.00	\$3,600.00	\$405.00	\$3,645.00	\$400.00	\$3,600.00	\$400.00	\$3,600.00	\$400.00	\$3,600.00	\$350.00	\$3,150.00	\$500.00	\$4,500.00
101			INSTALL SIGN (STRAP AND SADDLE BRACKET METHOD)	EA	20	\$100.00	\$2,000.00	\$102.00	\$2,040.00	\$100.00	\$2,000.00	\$100.00	\$2,000.00	\$100.00	\$2,000.00	\$350.00	\$7,000.00	\$110.00	\$2,200.00
102		568001A	INSTALL SIGN (BARRICADE MOUNTED)	EA	2	\$100.00	\$200.00	\$102.00	\$204.00	\$100.00	\$200.00	\$100.00	\$200.00	\$150.00	\$300.00	\$350.00	\$700.00	\$150.00	\$300.00
103		568016	INSTALL SIGN PANEL ON EXISTING FRAME	SF	480	\$10.00	\$4,800.00	\$7.00	\$3,360.00	\$10.00	\$4,800.00	\$10.00	\$4,800.00	\$7.00	\$3,360.00	\$10.00	\$4,800.00	\$20.00	\$9,600.00
104	Р	620100	18" ALTERNATIVE PIPE CULVERT	LF	1,520	\$70.00	\$106,400.00	\$86.50	\$131,480.00	\$100.00	\$152,000.00	\$53.00	\$80,560.00	\$245.00	\$372,400.00	\$75.00	\$114,000.00	\$110.75	\$168,340.00
105	Р	620140	24" ALTERNATIVE PIPE CULVERT	LF	630	\$80.00	\$50,400.00	\$200.00	\$126,000.00	\$120.00	\$75,600.00	\$101.00	\$63,630.00	\$295.00	\$185,850.00	\$90.00	\$56,700.00	\$128.40	\$80,892.00

Project #71328: US 50 / Silva Valley Parkway Interchange Project

 Contract No.
 PW 12-30647

 Project No.
 71328

Project Types Interchange Project

Begin Advertisement:

Bid Opening:

Anticipated Award:

7/12/13

9/12/13

9/24/13

	Unit of E			MYERS AN CONSTRUC			& SON, INC. dba ONSTRUCTION		.VA GATES RUCTION, LP	RGW CONS	TRUCTION, INC.	O.C. JONES	& SONS, INC.	GOLDEN STA	TE BRIDGE, INC.	BAY CITIES	S / MYERS, JV
Item No. Item Code	e Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
106 P 620220	36" ALTERNATIVE PIPE CULVERT	LF	120	\$100.00	\$12,000.00	\$112.00	\$13,440.00	\$150.00	\$18,000.00	\$228.00	\$27,360.00	\$330.00	\$39,600.00	\$100.00	\$12,000.00	\$87.90	\$10,548.00
107 P 650010	12" REINFORCED CONCRETE PIPE	LF	500	\$80.00	\$40,000.00	\$84.00	\$42,000.00	\$90.00	\$45,000.00	\$63.00	\$31,500.00	\$250.00	\$125,000.00	\$75.00	\$37,500.00	\$150.85	\$75,425.00
108 P 650014	18" REINFORCED CONCRETE PIPE	LF	640	\$84.00	\$53,760.00	\$66.00	\$42,240.00	\$125.00	\$80,000.00	\$68.00	\$43,520.00	\$260.00	\$166,400.00	\$100.00	\$64,000.00	\$160.25	\$102,560.00
109 P 650026	36" REINFORCED CONCRETE PIPE	LF	66	\$125.00	\$8,250.00	\$1,250.00	\$82,500.00	\$500.00	\$33,000.00	\$572.00	\$37,752.00	\$440.00	\$29,040.00	\$450.00	\$29,700.00	\$462.80	\$30,544.80
110 P 665025	24" CORRUGATED STEEL PIPE (.138" THICK)	LF	57	\$120.00	\$6,840.00	\$215.00	\$12,255.00	\$225.00	\$12,825.00	\$112.00	\$6,384.00	\$420.00	\$23,940.00	\$75.00	\$4,275.00	\$192.20	\$10,955.40
111 P 665033	30" CORRUGATED STEEL PIPE (.138" THICK)	LF	6	\$240.00	\$1,440.00	\$290.00	\$1,740.00	\$250.00	\$1,500.00	\$330.00	\$1,980.00	\$215.00	\$1,290.00	\$100.00	\$600.00	\$196.90	\$1,181.40
112 P 665038	36" CORRUGATED STEEL PIPE (.138" THICK)	LF	10	\$250.00	\$2,500.00	\$700.00	\$7,000.00	\$250.00	\$2,500.00	\$545.00	\$5,450.00	\$250.00	\$2,500.00	\$150.00	\$1,500.00	\$342.45	\$3,424.50
113 P 665048	48" CORRUGATED STEEL PIPE (.138" THICK)	LF	150	\$150.00	\$22,500.00	\$225.00	\$33,750.00	\$300.00	\$45,000.00	\$164.00	\$24,600.00	\$435.00	\$65,250.00	\$350.00	\$52,500.00	\$190.00	\$28,500.00
114 P 680905	8" PERFORATED PLASTIC PIPE UNDERDRAIN	LF	3,330	\$42.00	\$139,860.00	\$28.00	\$93,240.00	\$40.00	\$133,200.00	\$30.00	\$99,900.00	\$40.00	\$133,200.00	\$45.00	\$149,850.00	\$58.15	\$193,639.50
115 P 680905A	8" PLASTIC PIPE UNDERDRAIN OUTLET	LF	150	\$60.00	\$9,000.00	\$36.00	\$5,400.00	\$40.00	\$6,000.00	\$4.00	\$600.00	\$30.00	\$4,500.00	\$10.00	\$1,500.00	\$65.95	\$9,892.50
116 P 681107A	3" PVC PIPE	LF	280	\$38.00	\$10,640.00	\$15.00	\$4,200.00	\$20.00	\$5,600.00	\$29.00	\$8,120.00	\$73.00	\$20,440.00	\$5.00	\$1,400.00	\$21.00	\$5,880.00
117 681132	GEOCOMPOSITE DRAIN	SY	165	\$10.00	\$1,650.00	\$50.00	\$8,250.00	\$40.00	\$6,600.00	\$2.00	\$330.00	\$20.00	\$3,300.00	\$5.00	\$825.00	\$10.00	\$1,650.00
118 P 690118	18" CORRUGATED STEEL PIPE DOWNDRAIN (.109" THICK)	LF	480	\$70.00	\$33,600.00	\$88.00	\$42,240.00	\$125.00	\$60,000.00	\$118.00	\$56,640.00	\$110.00	\$52,800.00	\$135.00	\$64,800.00	\$53.30	\$25,584.00
119 P 690125	24" CORRUGATED STEEL PIPE DOWNDRAIN (.138" THICK)	LF	73	\$90.00	\$6,570.00	\$130.00	\$9,490.00	\$200.00	\$14,600.00	\$123.00	\$8,979.00	\$115.00	\$8,395.00	\$50.00	\$3,650.00	\$67.35	\$4,916.55
120 P 692001	ENTRANCE TAPER	EA	7	\$950.00	\$6,650.00	\$750.00	\$5,250.00	\$700.00	\$4,900.00	\$542.00	\$3,794.00	\$1,800.00	\$12,600.00	\$100.00	\$700.00	\$788.30	\$5,518.10
121 P 692307	18" ANCHOR ASSEMBLY	EA	29	\$500.00	\$14,500.00	\$340.00	\$9,860.00	\$300.00	\$8,700.00	\$590.00	\$17,110.00	\$450.00	\$13,050.00	\$150.00	\$4,350.00	\$309.90	\$8,987.10
122 702600A	TEE ENERGY DISSIPATOR	EA	2	\$760.00	\$1,520.00	\$900.00	\$1,800.00	\$1,000.00	\$2,000.00	\$380.00	\$760.00	\$1,100.00	\$2,200.00	\$150.00	\$300.00	\$923.80	\$1,847.60
123 P 703460	24" WELDED STEEL PIPE CASING (BRIDGE)	LF	154	\$275.00	\$42,350.00	\$265.00	\$40,810.00	\$150.00	\$23,100.00	\$220.00	\$33,880.00	\$100.00	\$15,400.00	\$90.00	\$13,860.00	\$280.00	\$43,120.00
124 P 703515	8" WELDED STEEL PIPE (.134" THICK)	LF	90	\$110.00	\$9,900.00	\$80.00	\$7,200.00	\$250.00	\$22,500.00	\$75.00	\$6,750.00	\$110.00	\$9,900.00	\$50.00	\$4,500.00	\$94.50	\$8,505.00
125 705011	18" STEEL FLARED END SECTION	EA	10	\$120.00	\$1,200.00	\$188.00	\$1,880.00	\$300.00	\$3,000.00	\$320.00	\$3,200.00	\$975.00	\$9,750.00	\$150.00	\$1,500.00	\$377.30	\$3,773.00
126 705015	24" STEEL FLARED END SECTION	EA	4	\$170.00	\$680.00	\$250.00	\$1,000.00	\$350.00	\$1,400.00	\$370.00	\$1,480.00	\$1,000.00	\$4,000.00	\$250.00	\$1,000.00	\$426.00	\$1,704.00
127 705019	30" STEEL FLARED END SECTION	EA	1	\$300.00	\$300.00	\$445.00	\$445.00	\$500.00	\$500.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$350.00	\$350.00	\$547.80	\$547.80
128 705031	48" STEEL FLARED END SECTION	EA	2	\$1,000.00	\$2,000.00	\$1,150.00	\$2,300.00	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$3,000.00	\$6,000.00	\$500.00	\$1,000.00	\$1,446.40	\$2,892.80
129 705311	18" ALTERNATIVE FLARED END SECTION	EA	15	\$220.00	\$3,300.00	\$260.00	\$3,900.00	\$400.00	\$6,000.00	\$330.00	\$4,950.00	\$535.00	\$8,025.00	\$100.00	\$1,500.00	\$438.70	\$6,580.50
130 705315	24" ALTERNATIVE FLARED END SECTION	EA	5	\$290.00	\$1,450.00	\$300.00	\$1,500.00	\$500.00	\$2,500.00	\$370.00	\$1,850.00	\$1,050.00	\$5,250.00	\$150.00	\$750.00	\$483.85	\$2,419.25
131 705321	36" ALTERNATIVE FLARED END SECTION	EA	2	\$700.00	\$1,400.00	\$740.00	\$1,480.00	\$800.00	\$1,600.00	\$822.00	\$1,644.00	\$2,250.00	\$4,500.00	\$250.00	\$500.00	\$1,086.20	\$2,172.40
132 707200	MANHOLE (SDMH)	EA	2	\$4,300.00	\$8,600.00	\$23,600.00	\$47,200.00	\$6,000.00	\$12,000.00	\$3,800.00	\$7,600.00	\$2,500.00	\$5,000.00	\$6,500.00	\$13,000.00	\$8,019.00	\$16,038.00
133 F 721015	ROCK SLOPE PROTECTION (LIGHT, METHOD B)	CY	267	\$75.00	\$20,025.00	\$95.00	\$25,365.00	\$90.00	\$24,030.00	\$101.00	\$26,967.00	\$135.00	\$36,045.00	\$75.00	\$20,025.00	\$119.25	\$31,839.75
134 F 721026	ROCK SLOPE PROTECTION (BACKING NO. 1, METHOD B)	CY	302	\$75.00	\$22,650.00	\$186.00	\$56,172.00	\$90.00	\$27,180.00	\$200.00	\$60,400.00	\$125.00	\$37,750.00	\$75.00	\$22,650.00	\$153.00	\$46,206.00
135 F 721028	ROCK SLOPE PROTECTION (BACKING NO. 2, METHOD B)	CY	1,319	\$75.00	\$98,925.00	\$95.00	\$125,305.00	\$100.00	\$131,900.00	\$69.00	\$91,011.00	\$105.00	\$138,495.00	\$90.00	\$118,710.00	\$90.50	\$119,369.50
136 721810	SLOPE PAVING (CONCRETE)	CY	37	\$1,000.00	\$37,000.00	\$420.00	\$15,540.00	\$1,000.00	\$37,000.00	\$850.00	\$31,450.00	\$750.00	\$27,750.00	\$450.00	\$16,650.00	\$900.00	\$33,300.00
137 P 729011	ROCK SLOPE PROTECTION FABRIC (CLASS 8)	SY	9,250	\$1.00	\$9,250.00	\$1.15	\$10,637.50	\$1.00	\$9,250.00	\$1.00	\$9,250.00	\$3.40	\$31,450.00	\$4.50	\$41,625.00	\$3.30	\$30,525.00
138 730010	MINOR CONCRETE (CURB)	LF	6,310	\$15.00	\$94,650.00	\$30.00	\$189,300.00	\$18.00	\$113,580.00	\$15.00	\$94,650.00	\$14.50	\$91,495.00	\$27.00	\$170,370.00	\$15.00	\$94,650.00
139 730040	MINOR CONCRETE (GUTTER)	LF	140	\$40.00	\$5,600.00	\$47.00	\$6,580.00	\$60.00	\$8,400.00	\$40.00	\$5,600.00	\$25.00	\$3,500.00	\$30.00	\$4,200.00	\$65.00	\$9,100.00
140 731504	MINOR CONCRETE (CURB AND GUTTER)	LF	3,400	\$20.00	\$68,000.00	\$17.00	\$57,800.00	\$18.00	\$61,200.00	\$17.00	\$57,800.00	\$18.00	\$61,200.00	\$42.00	\$142,800.00	\$19.00	\$64,600.00

Project #71328: US 50 / Silva Valley Parkway Interchange Project

 Contract No.
 PW 12-30647

 Project No.
 71328

Project Types Interchange Project

Begin Advertisement: Bid Opening: Anticipated Award: 7/12/13 9/12/13 9/24/13

				MYERS A CONSTRU		A. TEICHERT & TEICHERT CO			VA GATES RUCTION, LP	RGW CONSTR	RUCTION, INC.	O.C. JONES 8	SONS, INC.	GOLDEN STA	TE BRIDGE, INC.	BAY CITIES	/ MYERS, JV	
Item No.	Item Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
141	731521	MINOR CONCRETE (SIDEWALK)	CY	240	\$410.00	\$98,400.00	\$270.00	\$64,800.00	\$300.00	\$72,000.00	\$387.00	\$92,880.00	\$302.00	\$72,480.00	\$675.00	\$162,000.00	\$305.00	\$73,200.00
142	731530	MINOR CONCRETE (TEXTURED PAVING)	CY	230	\$710.00	\$163,300.00	\$490.00	\$112,700.00	\$300.00	\$69,000.00	\$600.00	\$138,000.00	\$420.00	\$96,600.00	\$675.00	\$155,250.00	\$425.00	\$97,750.00
143	731623	MINOR CONCRETE (CURB RAMP)	CY	4	\$900.00	\$3,600.00	\$500.00	\$2,000.00	\$2,000.00	\$8,000.00	\$1,800.00	\$7,200.00	\$1,500.00	\$6,000.00	\$700.00	\$2,800.00	\$2,100.00	\$8,400.00
144 P-F	750001	MISCELLANEOUS IRON AND STEEL	LB	15,332	\$1.00	\$15,332.00	\$1.50	\$22,998.00	\$1.50	\$22,998.00	\$1.50	\$22,998.00	\$2.75	\$42,163.00	\$2.00	\$30,664.00	\$1.55	\$23,764.60
145 P-F	750505	BRIDGE DECK DRAINAGE SYSTEM	LB	6,698	\$15.00	\$100,470.00	\$8.00	\$53,584.00	\$5.00	\$33,490.00	\$6.00	\$40,188.00	\$8.00	\$53,584.00	\$8.00	\$53,584.00	\$8.00	\$53,584.00
146 P	800001	FENCE (TYPE BW, METAL POST)	LF	1,100	\$8.00	\$8,800.00	\$8.00	\$8,800.00	\$10.00	\$11,000.00	\$8.00	\$8,800.00	\$7.75	\$8,525.00	\$5.00	\$5,500.00	\$8.00	\$8,800.00
147 P	800360	CHAIN LINK FENCE (TYPE CL-6)	LF	7,050	\$15.00	\$105,750.00	\$14.30	\$100,815.00	\$10.00	\$70,500.00	\$14.00	\$98,700.00	\$10.00	\$70,500.00	\$15.00	\$105,750.00	\$15.00	\$105,750.00
148 P	801230	16' WIRE MESH GATE	EA	2	\$1,500.00	\$3,000.00	\$1,840.00	\$3,680.00	\$1,500.00	\$3,000.00	\$1,800.00	\$3,600.00	\$1,800.00	\$3,600.00	\$1,500.00	\$3,000.00	\$1,850.00	\$3,700.00
149 P	801300	DUAL PIPE GATE	EA	1	\$3,500.00	\$3,500.00	\$3,580.00	\$3,580.00	\$7,500.00	\$7,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	\$3,600.00	\$3,600.00
150 P	802620	16' CHAIN LINK GATE (TYPE CL-6)	EA	1	\$1,500.00	\$1,500.00	\$1,840.00	\$1,840.00	\$1,500.00	\$1,500.00	\$1,800.00	\$1,800.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00	\$1,900.00	\$1,900.00
151	810116	SURVEY MONUMENT (TYPE D)	EA	14	\$500.00	\$7,000.00	\$540.00	\$7,560.00	\$750.00	\$10,500.00	\$1,250.00	\$17,500.00	\$775.00	\$10,850.00	\$150.00	\$2,100.00	\$600.00	\$8,400.00
152	820107	DELINEATOR (CLASS 1)	EA	167	\$40.00	\$6,680.00	\$40.50	\$6,763.50	\$40.00	\$6,680.00	\$40.00	\$6,680.00	\$40.00	\$6,680.00	\$75.00	\$12,525.00	\$40.00	\$6,680.00
153	820110	HIGHWAY POST MARKER	EA	3	\$50.00	\$150.00	\$50.50	\$151.50	\$50.00	\$150.00	\$50.00	\$150.00	\$50.00	\$150.00	\$75.00	\$225.00	\$50.00	\$150.00
154	820130	OBJECT MARKER	EA	30	\$50.00	\$1,500.00	\$50.50	\$1,515.00	\$50.00	\$1,500.00	\$50.00	\$1,500.00	\$40.00	\$1,200.00	\$75.00	\$2,250.00	\$50.00	\$1,500.00
155 P	832003	METAL BEAM GUARD RAILING (WOOD POST)	LF	6,900	\$20.00	\$138,000.00	\$24.50	\$169,050.00	\$25.00	\$172,500.00	\$24.00	\$165,600.00	\$24.00	\$165,600.00	\$25.00	\$172,500.00	\$26.00	\$179,400.00
156	832070	VEGETATION CONTROL (MINOR CONCRETE)	SY	3,810	\$45.00	\$171,450.00	\$46.00	\$175,260.00	\$30.00	\$114,300.00	\$57.00	\$217,170.00	\$60.00	\$228,600.00	\$55.00	\$209,550.00	\$48.00	\$182,880.00
157	833077	PEDESTRIAN BARRICADE (TYPE I)	EA	2	\$600.00	\$1,200.00	\$600.00	\$1,200.00	\$1,000.00	\$2,000.00	\$600.00	\$1,200.00	\$500.00	\$1,000.00	\$750.00	\$1,500.00	\$650.00	\$1,300.00
158	833077A	STREET BARRICADE	EA	2	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$1,600.00	\$3,200.00
159 P-F	833090A	TUBULAR BICYCLE RAILING	LF	647	\$85.00	\$54,995.00	\$76.50	\$49,495.50	\$100.00	\$64,700.00	\$75.00	\$48,525.00	\$95.00	\$61,465.00	\$90.00	\$58,230.00	\$80.00	\$51,760.00
160 P-F	839521	CABLE RAILING	LF	176	\$25.00	\$4,400.00	\$48.00	\$8,448.00	\$20.00	\$3,520.00	\$48.00	\$8,448.00	\$48.00	\$8,448.00	\$25.00	\$4,400.00	\$55.00	\$9,680.00
161 P	839541	TRANSITION RAILING (TYPE WB)	EA	10	\$3,000.00	\$30,000.00	\$3,265.00	\$32,650.00	\$3,000.00	\$30,000.00	\$3,500.00	\$35,000.00	\$3,200.00	\$32,000.00	\$3,000.00	\$30,000.00	\$3,400.00	\$34,000.00
162	839581	END ANCHOR ASSEMBLY (TYPE SFT)	EA	17	\$600.00	\$10,200.00	\$612.00	\$10,404.00	\$500.00	\$8,500.00	\$600.00	\$10,200.00	\$600.00	\$10,200.00	\$750.00	\$12,750.00	\$650.00	\$11,050.00
163	839585	ALTERNATIVE FLARED TERMINAL SYSTEM	EA	24	\$2,500.00	\$60,000.00	\$2,551.00	\$61,224.00	\$2,500.00	\$60,000.00	\$2,500.00	\$60,000.00	\$2,500.00	\$60,000.00	\$3,500.00	\$84,000.00	\$2,700.00	\$64,800.00
164	839700	CONCRETE BARRIER (TYPE 60F)	LF	150	\$375.00	\$56,250.00	\$434.00	\$65,100.00	\$200.00	\$30,000.00	\$103.00	\$15,450.00	\$415.00	\$62,250.00	\$300.00	\$45,000.00	\$155.00	\$23,250.00
165	839701	CONCRETE BARRIER (TYPE 60)	LF	570	\$100.00	\$57,000.00	\$95.50	\$54,435.00	\$80.00	\$45,600.00	\$103.00	\$58,710.00	\$82.00	\$46,740.00	\$70.00	\$39,900.00	\$70.00	\$39,900.00
166	839701A	CONCRETE BARRIER (TYPE 60 MOD)	LF	64	\$300.00	\$19,200.00	\$383.00	\$24,512.00	\$175.00	\$11,200.00	\$103.00	\$6,592.00	\$365.00	\$23,360.00	\$125.00	\$8,000.00	\$130.00	\$8,320.00
167	839704A	CONCRETE BARRIER (TYPE 60D MOD)	LF	10	\$200.00	\$2,000.00	\$1,690.00	\$16,900.00	\$100.00	\$1,000.00	\$59.00	\$590.00	\$1,650.00	\$16,500.00	\$350.00	\$3,500.00	\$130.00	\$1,300.00
168 F	839720	CONCRETE BARRIER (TYPE 732)	LF	225	\$100.00	\$22,500.00	\$120.00	\$27,000.00	\$80.00	\$18,000.00	\$130.00	\$29,250.00	\$96.00	\$21,600.00	\$110.00	\$24,750.00	\$85.00	\$19,125.00
169 F	839727	CONCRETE BARRIER (TYPE 736 MOD)	LF	1,566	\$100.00	\$156,600.00	\$135.00	\$211,410.00	\$85.00	\$133,110.00	\$96.00	\$150,336.00	\$96.00	\$150,336.00	\$95.00	\$148,770.00	\$85.00	\$133,110.00
170 F	839735A	CONCRETE BARRIER (TYPE 742 MOD)	LF	323	\$100.00	\$32,300.00	\$265.00	\$85,595.00	\$90.00	\$29,070.00	\$147.00	\$47,481.00	\$127.00	\$41,021.00	\$135.00	\$43,605.00	\$155.00	\$50,065.00
171	840502	THERMOPLASTIC TRAFFIC STRIPE (ENHANCED WET NIGHT VISIBILITY)	LF	73,500	\$0.50	\$36,750.00	\$0.66	\$48,510.00	\$0.60	\$44,100.00	\$0.65	\$47,775.00	\$0.50	\$36,750.00	\$0.50	\$36,750.00	\$0.70	\$51,450.00
172	840516	THERMOPLASTIC PAVEMENT MARKING (ENHANCED WET NIGHT VISIBILITY)	SF	4,980	\$4.25	\$21,165.00	\$4.37	\$21,762.60	\$4.00	\$19,920.00	\$4.30	\$21,414.00	\$4.15	\$20,667.00	\$4.00	\$19,920.00	\$4.50	\$22,410.00
173	840656	PAINT TRAFFIC STRIPE (2-COAT)	LF	790	\$1.00	\$790.00	\$1.00	\$790.00	\$1.00	\$790.00	\$1.00	\$790.00	\$3.00	\$2,370.00	\$0.30	\$237.00	\$2.00	\$1,580.00
174 P	850111	PAVEMENT MARKER (RETROREFLECTIVE)	EA	1,960	\$3.00	\$5,880.00	\$3.00	\$5,880.00	\$3.00	\$5,880.00	\$3.00	\$5,880.00	\$3.25	\$6,370.00	\$5.00	\$9,800.00	\$3.25	\$6,370.00
175	860090	MAINTAINING EXISTING TMS ELEMENTS DURING CONSTRUCTION	LS	1	\$4,000.00	\$4,000.00	\$8,500.00	\$8,500.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$8,500.00	\$8,500.00	\$5,000.00	\$5,000.00

Project #71328: US 50 / Silva Valley Parkway Interchange Project

 Contract No.
 PW 12-30647

 Project No.
 71328

Project Types Interchange Project

 Begin Advertisement:
 7/12/13

 Bid Opening:
 9/12/13

 Anticipated Award:
 9/24/13

			MYERS AN CONSTRUC			& SON, INC. dba CONSTRUCTION		VA GATES RUCTION, LP	RGW CONST	RUCTION, INC.	O.C. JONE	S & SONS, INC.	GOLDEN STA	TE BRIDGE, INC.	BAY CITIES /	MYERS, JV			
Item I	o. Item (Code	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
176	P 8602	0251 SIC	GNAL AND LIGHTING (LOCATION 1)	LS	1	\$200,000.00	\$200,000.00	\$231,000.00	\$231,000.00	\$150,000.00	\$150,000.00	\$211,000.00	\$211,000.00	\$210,000.00	\$210,000.00	\$228,500.00	\$228,500.00	\$210,000.00	\$210,000.00
177	P 8602	0252 SIC	GNAL AND LIGHTING (LOCATION 2)	LS	1	\$170,000.00	\$170,000.00	\$217,000.00	\$217,000.00	\$150,000.00	\$150,000.00	\$172,000.00	\$172,000.00	\$175,000.00	\$175,000.00	\$215,000.00	\$215,000.00	\$170,000.00	\$170,000.00
178	P 8602	0253 SIC	GNAL AND LIGHTING (LOCATION 3)	LS	1	\$150,000.00	\$150,000.00	\$217,000.00	\$217,000.00	\$150,000.00	\$150,000.00	\$153,000.00	\$153,000.00	\$150,000.00	\$150,000.00	\$215,000.00	\$215,000.00	\$150,000.00	\$150,000.00
179	P 8604	0460 LIG	GHTING AND SIGN ILLUMINATION	LS	1	\$650,000.00	\$650,000.00	\$650,000.00	\$650,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$700,000.00	\$700,000.00	\$645,000.00	\$645,000.00	\$699,666.00	\$699,666.00
180	860	0799 BA	ATTERY BACKUP SYSTEM	LS	1	\$6,000.00	\$6,000.00	\$35,300.00	\$35,300.00	\$5,000.00	\$5,000.00	\$35,000.00	\$35,000.00	\$6,000.00	\$6,000.00	\$35,000.00	\$35,000.00	\$10,000.00	\$10,000.00
181	8611		AMP METERING SYSTEM AND TMS ELEMENTS	LS	1	\$130,000.00	\$130,000.00	\$267,100.00	\$267,100.00	\$100,000.00	\$100,000.00	\$135,000.00	\$135,000.00	\$130,000.00	\$130,000.00	\$265,000.00	\$265,000.00	\$130,000.00	\$130,000.00
182	8690		MERGENCY VEHICLE PREEMPTION SYSTEM OCATIONS 1 THRU 3)	LS	1	\$25,000.00	\$25,000.00	\$15,150.00	\$15,150.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$24,000.00	\$24,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
183	8690	9050 GU	JARD POST	EA	4	\$400.00	\$1,600.00	\$405.00	\$1,620.00	\$500.00	\$2,000.00	\$400.00	\$1,600.00	\$400.00	\$1,600.00	\$250.00	\$1,000.00	\$450.00	\$1,800.00
184	8690	050A GU	JARD POST (REMOVABLE)	EA	1	\$500.00	\$500.00	\$506.00	\$506.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$600.00	\$600.00
185	9999	9990 MC	OBILIZATION	LS	1	\$2,950,000.00	\$2,950,000.00	\$3,000,000.00	\$3,000,000.00	\$3,080,000.00	\$3,080,000.00	\$3,000,000.00	\$3,000,000.00	\$2,750,000.00	\$2,750,000.00	\$3,350,000.00	\$3,350,000.00	\$3,400,000.00	\$3,400,000.00

EID UTILITY RELOCATION WORK ITEMS

			AND SONS ICTION, LLC		& SON, INC. dba ONSTRUCTION		.VA GATES RUCTION, LP	RGW CONS	TRUCTION, INC.	O.C. JONES	S & SONS, INC.	GOLDEN STA	TE BRIDGE, INC.	BAY CITIES	S / MYERS, JV		
186	150204B ABANDON 12" AC WATER LINE	LF	1,030	\$10.00	\$10,300.00	\$20.00	\$20,600.00	\$50.00	\$51,500.00	\$7.00	\$7,210.00	\$24.00	\$24,720.00	\$10.00	\$10,300.00	\$14.35	\$14,780.50
187	150204C ABANDON 8" WATER LINE	LF	200	\$10.00	\$2,000.00	\$15.00	\$3,000.00	\$50.00	\$10,000.00	\$13.00	\$2,600.00	\$35.00	\$7,000.00	\$20.00	\$4,000.00	\$8.25	\$1,650.00
188	152375A RELOCATE PRESSURE REDUCING STATION	EA	1	\$8,000.00	\$8,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$40,000.00	\$40,000.00	\$5,000.00	\$5,000.00	\$20,342.00	\$20,342.00
189	152375B RELOCATE BLOW OFF VALVE	EA	1	\$2,000.00	\$2,000.00	\$6,300.00	\$6,300.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$6,717.00	\$6,717.00
190	152375C RELOCATE AIR RELEASE VALVE	EA	1	\$2,500.00	\$2,500.00	\$6,900.00	\$6,900.00	\$5,000.00	\$5,000.00	\$9,500.00	\$9,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$6,702.00	\$6,702.00
191	208591A BLOWOFF VALVE	EA	1	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,090.00	\$5,090.00
192	510502A MINOR CONCRETE (ENCASEMENT)	CY	11	\$350.00	\$3,850.00	\$300.00	\$3,300.00	\$500.00	\$5,500.00	\$755.00	\$8,305.00	\$400.00	\$4,400.00	\$150.00	\$1,650.00	\$102.00	\$1,122.00
193	700001A 8" WATER LINE (CL-150)	LF	160	\$70.00	\$11,200.00	\$145.00	\$23,200.00	\$125.00	\$20,000.00	\$82.00	\$13,120.00	\$315.00	\$50,400.00	\$125.00	\$20,000.00	\$192.70	\$30,832.00
194	700001B 12" WATER LINE (CL-150)	LF	1,030	\$70.00	\$72,100.00	\$88.00	\$90,640.00	\$140.00	\$144,200.00	\$105.00	\$108,150.00	\$250.00	\$257,500.00	\$205.00	\$211,150.00	\$197.85	\$203,785.50
																ı	
					\$115,950.00		\$173,940.00		\$256,200.00		\$174,885.00		\$399,020.00		\$267,100.00		\$291,021.00

EID UTILITY RELOCATION WORK ITEMS (REIMBURSABLE)

		_	AND SONS JCTION, LLC		& SON, INC. dba ONSTRUCTION		VA GATES RUCTION, LP	RGW CONST	RUCTION, INC.	O.C. JONES	& SONS, INC.	GOLDEN STA	TE BRIDGE, INC.	BAY CITIES	6 / MYERS, JV		
195	150204D ABANDON 12" AC WATER LINE (EID)	LF	2,940	\$9.00	\$26,460.00	\$15.00	\$44,100.00	\$10.00	\$29,400.00	\$10.00	\$29,400.00	\$18.00	\$52,920.00	\$10.00	\$29,400.00	\$7.70	\$22,638.00
196	150776A REMOVE VALVE (EID)	EA	3	\$1,500.00	\$4,500.00	\$300.00	\$900.00	\$500.00	\$1,500.00	\$220.00	\$660.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00	\$382.00	\$1,146.00
197	150809A REMOVE WATER LINE (EID)	LF	70	\$30.00	\$2,100.00	\$130.00	\$9,100.00	\$50.00	\$3,500.00	\$72.00	\$5,040.00	\$50.00	\$3,500.00	\$50.00	\$3,500.00	\$24.50	\$1,715.00
198	151508A RECONSTRUCT MANHOLE (EID)	EA	6	\$4,200.00	\$25,200.00	\$12,000.00	\$72,000.00	\$2,500.00	\$15,000.00	\$4,000.00	\$24,000.00	\$6,400.00	\$38,400.00	\$1,500.00	\$9,000.00	\$6,690.00	\$40,140.00
199	152351 RELOCATE HYDRANT (EID)	EA	2	\$3,000.00	\$6,000.00	\$8,000.00	\$16,000.00	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$3,600.00	\$7,200.00	\$5,000.00	\$10,000.00	\$6,275.00	\$12,550.00
200	152375D RELOCATE AIR RELEASE VALVE (EID)	EA	1	\$2,500.00	\$2,500.00	\$6,800.00	\$6,800.00	\$5,000.00	\$5,000.00	\$6,100.00	\$6,100.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,752.00	\$3,752.00
201	152375E RELOCATE GATE VALVE (EID)	EA	1	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00	\$1,000.00	\$1,000.00	\$650.00	\$650.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,232.00	\$1,232.00
202	152375F RELOCATE SAMPLING STATION (EID)	EA	1	\$3,000.00	\$3,000.00	\$4,150.00	\$4,150.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00	\$5,500.00	\$5,500.00	\$500.00	\$500.00	\$4,825.00	\$4,825.00
203	152451A ADJUST WATER VALVE TO GRADE (EID)	EA	11	\$700.00	\$7,700.00	\$1,350.00	\$14,850.00	\$500.00	\$5,500.00	\$755.00	\$8,305.00	\$500.00	\$5,500.00	\$500.00	\$5,500.00	\$965.00	\$10,615.00
204	152475A ADJUST SSMH TO GRADE (EID)	EA	2	\$4,300.00	\$8,600.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$950.00	\$1,900.00	\$1,000.00	\$2,000.00	\$750.00	\$1,500.00	\$865.00	\$1,730.00
205	208591B BLOWOFF VALVE (EID)	EA	1	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$5,400.00	\$5,400.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,409.00	\$3,409.00
206	208591C INSTALL BLIND FLANGE (EID)	EA	1	\$1,900.00	\$1,900.00	\$850.00	\$850.00	\$100.00	\$100.00	\$610.00	\$610.00	\$150.00	\$150.00	\$500.00	\$500.00	\$828.00	\$828.00
207	700001C 12" WATER LINE (DR-14) (EID) LF 590 \$85.00 \$50,150.00 \$90.00				\$53,100.00	\$100.00	\$59,000.00	\$122.00	\$71,980.00	\$300.00	\$177,000.00	\$125.00	\$73,750.00	\$191.00	\$112,690.00		
	\$144,110.00						\$230,050.00		\$137,000.00		\$159,845.00		\$306,170.00		\$145,650.00		\$217,270.00

\$30,880,880.00

\$31,452,634.50

\$32,362,469.30

\$30,530,481.10

\$29,715,154.70

9/13/2013-1:42 PM 6 of 6

\$34,079,101.00

\$34,456,000.00